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PART A: Grammar & Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

80-

81-

82-

83-

84-

85-

86-

87-

I'm going to look silly if -----------=---- any of the questions.

1) I won't answer 2) I can't answer

3) not answering 4) don't answer

There's no point ---------------- something we aren't going to finish.

1) start 2) to start 3) starting 4) started

If your friends don't arrive by five, --------------—- without them.

1) we'll leave 2) so that we leave

3) in order to leave 4) as leaving

Although there are some mountain peaks that receive over thirty inches of rain every

year, ------====e==n=- Arizona has a warm, dry climate with only a little rain in winter.

1) some 2) alot 3) many of 4) most of

A manager of a large taxi company said the lowering of ---------------- is making the job

less popular.

1) incomes 2) values 3) skills 4) diversity

(iallhme lazy, but I don't really want to grow my own cotton and ---------------- my own

cloth.

1) forbid 2) weave 3) prefer 4) order

If ymi could help me find him or if anyone has any information they can give me I would
reatly ----------euuee- it.

%) reflect 2) develop 3) choose 4) appreciate

The museum has an amazing collection of exhibits ranging from Iron Age ----------------

to Inuit clothing.

1) lifestyle 2) craftsmen 3) pottery 4) missions

Y e and happy customer will tell two of his or her friends, while an unhappy
customer will tell 10.

1) homeless 2) cultural 3) satisfied 4) powerful

Other car makers have also planned to start ---------------- Audi and Volkswagen in
Britain this year.

1) causing 2) deciding 3) influencing 4) producing

The young man said he understood but sounded ---------------- at John's sudden absence
from their lives, though he did not press for an explanation.

1) confused 2) amused 3) frightened 4) certain

Last year, thousands of children and hundreds of schools ---------------- in all kinds of
activities.

1) watched out 2) took part 3) made up 4) gave up

One of the continuing myths about the relationship between intelligence and the
brain is that the brains of very clever people are somehow physically different from
those of ordinary people. At the beginning of the century an American scientist
called E.A. Spifzka produced a list of the (88) ---------------- of the brains of
important, well-known men. The heaviest brain (89) ---------------- the list was that of
Turgenev, the Russian novelist, at 2000g. However, the brain of another great genius,
Walt Whitman was only 1282g.

(90) ----------mmmm-- no significant differences between the intelligence levels of
males and females. However, girls under seven score (91) ---------------- higher than
boys in IQ tests and the highest IQ recorded is that of Marylin vos Savant at 230.
However, men and women do differ in the way they think. Generally, women are
(92) -----=mmmmmmee- verbally and men do better on visual-spatial tasks.
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88- 1) emotions 2) images 3) weights 4) disorders

89- 1)to 2) on 3) at 4) by

90- 1) There are 2) They are 3) The 4) Of the

91- 1)afew 2) few 3) little 4; a little

92- 1) skilled at 2) as skilled as 3) most skilled 4) more skilled

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Growing numbers of men and women are suffering from eating problems, serious
headaches, and mouth pain because they grind their teeth at night. Dentists in the UK
say this increase comes from people worrying about their jobs. Levels of
unemployment have gone up dramatically in recent months.

In the past year, more patients have seen dentists for treatment because of the
effects of their grinding. These include headaches, pain in their whole mouth, or
damage to the teeth, including pieces falling off and cracked molars (back teeth).
Many patients take painkillers to help with their symptoms. Even with the painkillers,
some are not able to keep up with their work or to maintain their normal lifestyle.

According to Sharif Kahn, a cosmetic dentist, “Ambitious people and
perfectionists who work in business are the worst affected by grinding."

Workers in the financial sector suffer more than those in other sectors. Dentist
Yann Maidment says he has seen a 10-20% increase in such patients over the past 18
months, especially those working in banks and financial services businesses.

“There’s a lot of anxiety about job loss," said Maidment. Business people who
travel frequently for work also grind their teeth more than others, he said. He 1s giving
bite guards to more and more patients. These are thin pieces of plastic that protect the
teeth, similar to the mouth guards used by sports players. Bite guards cost from $400-
$700 and they are worn at night to cover tEe teeth. Most of those people who grind
their teeth do it for up to two hours pernight.

93- What does the passage mainly discuss?
1) Useful advice provided by dentists
2) The development of a bad habit among workers
3) Why levels of unemployment have gone up
4) The best cure for teeth grinding
94- Which of the following best describes the function of the underlined sentence in
paragraph 2?
1) It makes a list of the symptoms of a problem.
2) It denies the seriousness of a problem described in the previous sentence.
3) It defines a term mentioned in the previous sentence.
4) It shows the relationship between headaches and pain in the mouth.
95- According to the passage, all of the following are likely to suffer from teeth grinding
EXCEPT those who ---------=------ ,
1) have high standards 2) are ambitious
3) borrow from the bank 4) work in the financial sector
96- It is stated in the passage that more and more patients are ---------------- 3
1) complaining about the high cost of bite guards
2) being given special equipment to protect their teeth
3) using mouth guards
4) being taught to reduce their anxiety




97-
98-

99-

100-

PASSAGE 2:

Most of the video gamers are men. Women are evidently not as attracted to the game
universe of wild adventures, monsters, and wars. Most women also do not care for the
game system of rules and levels. For men, on the other hand, this system offers a sense
of control and satisfaction that may be missing from their real lives.

Moreover, many gamers are young—teenagers or a little older—though there are
also some older men. What they have in common is their urge to escape from the real
world. Some of them are very shy and have never been comfortable relating to real
people. Others use the video world to escaﬁ)e from problems in their lives, such as
academic failure, unemployment, or the breakup of a marriage or family.

Researchers have calculated that 2 to 4 percent of all players become addicts. These
statistics have led to increasing concern. Psychologists at addiction clinics have
developed guidelines for the prevention of addiction. These guidelines try first of all to
identify people who might have a weakness for the games. Then they make
recommendations for ways to limit game playing. For instance, they recommend
keeping computers in more public areas of the home, rather than in the bedroom. The
also suggest getting rid of very powerful computers and replacing them with smalil
laptops that cannot handle most games.

The word "that" in paragraph 1 refers to ----------—--=mmv,

1) sense 2) system 3) control 4) satisfaction

The author refers to academic failure, unemployment or the breakup of a marriage or
family in paragraph 2 ——-eeeemeemev,

1) as reasons why people choose to play video games

2) to describe the effects of video games

3) to compare and contrast men and women gamers

4) as examples of important problems

According to the passage, the prevention of addiction to video games ~--—-cero- .

1) depends on the weaknesses of the games

2) can be achieved by keeping computers in the bedroom

3) is the main focus of psychological studies

4) is a two-step process

There is ;\IOT enough information in the passage to answer which of the following
questions?

1) Why should small laptops replace very powerful computers?

2) How well can some gamers communicate with real people?

3% How can gamers increase their chances of success?

4) Are men more interested in video games than women?

o @sanjesheducationgroup i sl 3T slgyg03T o1, JGLS
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PART A: Grammar

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

101-

102-

103-

104-

105-

106-

107-

108-

109-

110-

The man who is begging on the pavement outside the station ------------- a bank manager.
1) used to being 2) use to being 3) used to be 4) was used to be
Mike walked straight into a pole on the road. He -------------- where he was going.

1) can't have been looking 2) could be looking

3) has to look 4) can't be looking

The police asked -------------- us about --=--====--un- movements on the night of the crime.
1) some / our 2) each of / his 3) a few / each 4) all / each of

As we —------mmmm- our plans for the weekend, my brother -------------- to say he wanted to
come round.

1) make / has called 2) made / was calling

3) have made / had called 4) were making / called

Astrology is becoming increasingly popular -------------- there is no evidence at all that
the stars affect our behavior.

1) whether 2) although 3)asif 4) till

The animal glues are made -------------- collagen, a protein found -------------- skin, bone,
and sinew. ~

1) from /in 2) by / with 3) over/in 4)in/on

The show -------------- its run on Jan. 31, but ---------—---- the opening to allow for more
rehearsal.

1) should have started / has postponed 2) used to have started / postponed

3) was to have started / postponed 4) ought to have started / has postponed
I'm in a hurry, open the door for me, -=----==------ P

1) won't you 2) are you 3) will you 4) aren't you

If you describe someone or their behavior as immoral, you ----------eee- that they are
morally wrong.

1) would mean 2) had meant 3) will be meant 4) mean

It's important that the peace accord -------------- as soon as possible.

1) have been signed 2) to sign

3) to have signed 4) be signed

PART B: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

111-

112-

113-

114-

The jury -----------——- from the evidence that the defendant was innocent.

1) assisted 2) concluded 3) invested 4) administrated

As a parent, you must try to create a stable home ----------=-—- for your children to grow
up in.

1) environment 2) formula 3) authority 4) method

Many --------====-- customers are waiting for a fall in prices before buying.

1) potential 2) cultural 3) consequent 4) obtainable

Because of her talent, Samantha started to sing -------------- after leaving university.

1) virtually 2) periodically 3) evidently 4) professionally
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115- The thought -------------- to me this morning that it's Jane's birthday tomorrow and I
haven't got her a present.
1) accelerated 2) emphasized 3) occurred 4) tolerated
116- Having taken the medicine, the patient's ------------—- went down and he felt himself
better.
1) fever 2) wound 3) injury 4) health
117- The fire, which broke out last night, caused -------------- damage to the public library.
1) complex 2) considerable 3) different 4) proportional /
118- The cost of living in the city is more expensive but salaries are supposed to be --------------
higher.
1) correspondingly  2) beneficially 3) vaguely 4) negatively 8
119- Following the plane crash, the airline is taking further steps to ------—-----—-- public safety
on its aircraft.
1) react 2) ensure 3) remove 4) constrain
120- Negotiations are still trying to find a/an ------------— for a long-term peace agreement.
1) fund 2) component 3) sequence 4) framework
121- The -------—--——- curriculum is a group of courses in various subjects which all students
in a school must study.
1) sufficient 2) minor 3) initial 4) core
122- Nobody knows -------------- how many pacific islands there are, but geographers estimate
that there are up to 30,000.
1) approximately 2) precisely 3) primarily 4) simply
123- A national park is an area of a country that is -------------- by the government.
1) scattered 2) jeopardized 3) consumed 4) protected
124- Tt was a beautiful and moving film, marred only by the fact that it bore no -------—------- to
what actually happened.
1) strength 2) solidarity 3) resemblance 4) autonomy
125- Scientists measure the --------—----- distances between atoms in microns.
1) tiny 2) visible 3) humble 4) acute
PART C: Sentence Structure
Directions: Choose the sentence with the best order for each of the following series. Then
mark the correct choice on your answer sheet.
126-
1) The stock market is in fact rising faster than ever it has before.
2) The stock market in fact rises faster than before it ever has. 4
3) In fact, the stock market is rising faster than it ever has before.
4) The stock market rises faster than before ever in fact it has. o
127-
1) The fireman was truly acting above and beyond the call of duty.
2) Truly the fireman was acting above the call of duty and beyond.
3) Truly the fireman was acting the call of above and beyond duty.
4) The fireman was acting truly the call of duty above and beyond.
128-

1) Most of gardeners like to cultivate the kind of flowers in the spring early.
2) Most gardeners like cultivating these kind of flowers in the early spring.
3) Most of gardeners like cultivating these kind of flowers in the spring early.
4) Most gardeners like to cultivate this kind of flowers in the early spring.



129-

1) Before I can agree to convince to lend to you 100$, the money must be returned
promptly.

2) Before I can agree to lend you 1008, you have to convince me from a prompt money
return.

3) Before I can agree to lend to you 100$, you must convince me of promptness in
returning the money.

4) Before I can agree to lend you 1008, you will have to convince me that you will
return the money promptly.

130-
1) I am not certain for which courses I am to take.
2) I am not certain about which courses to take.
3) I am not certain in respect to which courses I take.
4) T am not certain about the choice of which courses I take.

PART D: Language Functions

Directions: Read the following conversations between two people and answer the questions

about the conversations by choosing one of the choices (1), (2), (3), or (4). Then mark the
correct choice on your answer sheet.

131- A: I feel like eating steak tonight. How much is your beef per pound?

B: It's -—————---———- to $2, but the roast one is only $1.30.

1) gotten over 2) gone up 3) gone through 4) gotten in
132- A: I'm -------mmmeemm seeing David.

B: How long has it been since you saw him?

1) coming up with ~ 2) being in an 3) looking forward to4) looking up to
133- A: I'm feeling too tired to drive any more; will you --------------

B: Sure.

1) run across 2) stick to 3) take over 4) try for
134- A: Put the food where the cat can't -------------- it.

B: I will put it in the fridge.

1) hold on 2) get at 3) come about 4) catch on
135- A: Hello Ann, this is Sam. -------------- I have to cancel our date tonight.

B: That's OK, Sam. I should study anyway.

1) I'm afraid 2) Excuse me 3) Come on 4) Pardon me
136- A: I'm telling you the truth.

B: Yes. It's true; -----------—-—-- !

1) No sense 2) It's supposed 3) Up to you 4) No kidding
137- A: What is the assignment?

B: —--memeeeeeee- . I didn't hear what the professor said.

1) It's for you to decided 2) It doesn't matter

3) I don't mean it 4) I don't know
138- A: Do you know that woman over there?

B: Her face ---------=---- but I can't remember whether I've ever met her.

1) knows by heart  2) rings the bell 3) drops a brick 4) turns up trumps
139- A: ——-momeeee- ! You're driving too fast on this narrow road.

B: All right.

1) Jump to it 2) Serves you right 3) Take your time  4) Go over your head
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140- A: I like our new teacher.
B: I do too. He is really ------------—-—- | :
1) on the ball 2) a tall orde 3) a hard nut 4) not be all there

PART E: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Chronobiology might sound a little futuristic - like something from a science fiction
novel, perhaps - but it's actually a/an (141) -------------- of study that concerns one of
the oldest processes life on this planet has ever known: short-term rhythms of time and
their (142) -------------- on flora and fauna.

This can take many forms. Marine life, for example, is influenced by tidal patterns.
Animals tend to be active or inactive (143) -------------- on the position of the sun or
moon. Numerous creatures, humans included, are largely diurnal - that is, they like to
come out during the hours of sunlight. Nocturnal animals, such as bats and possums,
prefer to (144) -------------- by night. A third group are known as crepuscular: they
thrive in the lowlight of dawn and dusk and (145) -------------- inactive at other hours.

When it comes to humans, chronobiologists are interested in (146) -------------- as
the circadian rhythm. This is the complete cycle our bodies are (147) --------------
geared to undergo within the passage of a twenty-four hour day. Aside from sleeping
at night and waking during the day, each cycle involves many other factors such as
changes (148) -------------- blood pressure and body temperature. (149) --------=---- )
'Night people', for example, often describe how they find it very hard to operate during
the morning, but become (150) -------------- and focused by evening. This is a
(151) ------=mmmmmm- variation within circadian rhythms known as a chronotype.

Scientists have limited abilities to create durable modifications of chronobiological
(152) --------mmm- . Recent therapeutic developments, for humans such as artificial light
machines and melatonin administration can (153) -------------- our circadian rhythms, for
example, but our bodies can tell the difference and health suffers when we breach these
natural rthythms for extended periods of time. Plants appear no more (154) ------mmmmmm-
in this respect; studies demonstrate that vegetables grown in season and ripened on the
tree-are (155) ------------—- in essential nutrients than those grown in greenhouses and

ripened by laser.

141- 1) field 2) object 3) time 4) search
142- 1) choice 2) role 3) aspect 4) effect
143- 1) depended 2) depend 3) depending 4) depends
144- 1) assess 2) forage 3) produce 4) focus
145- 1) maintain 2) perceive 3) remain 4) acquire
146- 1) what is known 2) what it is known

3) knowing that 4) knowing what
147- 1) firmly 2) naturally 3) initially 4) directly
148- 1) on 2) in 3) for 4) at

149- 1) Everyone not has an identical circadian rhythm
2) Not everyone an identical circadian rhythm has
3) An identical circadian rhythm not everyone has
4) Not everyone has an identical circadian rhythm
150- 1) flexible 2) common 3) adequate 4) alert
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151- 1) abrupt 2) innovative 3) benign 4) temporary
152- 1) demands 2) contacts 3) theories 4) contracts
153- 1) define 2) create 3) reset 4) distribute
154- 1) obvious 2) malleable 3) feasible 4) available
155- 1) far the higher 2) far higher

3) far the high 4) the far high

PART F: Reading Comprehension

Directions: Read the following two passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:
Ironically, of the four theories concerning the structure of the universe, the one which, to

date, has had the longest - life is also the one which is the least correct. This theory was
the product of the mind of Claudius Ptolemy, second-century Egyptian astronomer, and
is called the Ptolemaic system. It held sway throughout Europe until the seventeenth
century and was even taught in American universities along with Copernicus' theory
during that century. Ptolemy's astronomical theory held that the earth was the center of
the universe and that the sun, the moon, and the planets rotated around the earth. One
reason that this incorrect theory was believed for so long is that to the naked, untrained
eye, it does indeed appear that this is what is happening above our heads. The main
difficulty with this theory, and in fact what spurred Copernicus to further observation
and theorizing, was that every new astronomical observance required a new contrivance
of Ptolemy's system of circular orbits. In short, the system had no regularities or
rhythms, a fact which made it highly suspect in Copernicus' eyes.

Nicolaus Copernicus was born in Thom, Poland, in 1473. During his lifetime he
studied medicine and theology as well as astronomy, but after 1505 he devoted himself
entirely to astronomy. Using only the most primitive instruments (the telescope had
yet to be invented), Copernicus determined during the next thirty-eight years that the
sun was the center of their system. He also calculated the amount of time each planet
took to orbit the sun. He knew that these orbits were not circular, but he was never
able to determine what shape they took—not surprisingly, considering his lack of a
telescope. (There is a monument in his honor in Cracow, Poland, which is inscribed
with the Latin for "Stand, Sun, do not move.")

Great as Copernicus' theory is, it was not recognized as correct until his countryman
Kepler determined in the seventeenth century, with the aid of telescopes, that the
planets have elliptical orbits around the sun. So in a way, despite the great leap he
made, Copernicus may be considered on the boundary line between the old and the
new eras of science.

156- The Ptolemaic system ------------—--- .
1) was considered correct for over 15 centuries
2) best describes the solar system
3) was considered correct only in Egypt
4) replaced Kepler's theory
157- Copernicus believed that ---------—--—- A
1) the planets have circular orbits 2) the sun is the center of the universe
3) the earth is the center of the universe ~ 4) the sun is the center of the solar system
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158-

159-

160-

161-

162-

163-

164-

165-

During his lifetime, Copernicus studied --------------- ,

1) only astronomy 2) theology and astronomy

3) medicine and astronomy 4) astronomy, theology, and medicine
The motto "Stand, Sun, do not move'" means that --------------- .

1) the sun does not orbit the earth 2) Einstein's theories are false

3) copernicus stopped the sun 4) the sun does not move

Elliptical orbits of the planets were established by --------------- ;

1) Ptolemy 2) Einstein 3) Kepler 4) Copernicus

PASSAGE 2:
Marina Hills High School is fighting pollution in an unusual way. It's planting trees!

In an effort to fight pollution and help the environment, the Marina Hills Ecology
Club offers free trees to institutions willing to plant them on their grounds. Among
those that took advantage of the offer was Marina Hills High School. After consulting
with his teachers on where to plant the trees, Principal Max Webb contacted the
Ecology Club.

But when the seedlings arrived, Webb had an idea. Instead of planting the young
trees in front of the school, he thought it would be better to put them behind the
school, where the sun gets very hot in the afternoon.

"It gets so hot inside the building that the students start to sweat during their afternoon
classes," said Webb. "Now the shade from our trees will bring them some relief."

There was no argument from the teachers, " he added "When I proposed the idea,
everyone said, Now why didn't I think of that!""'

The relief won't come until the trees grow taller, but the school will not have to wait
long because it requested two species of trees that grow quickly.

"Time is key, and we wanted our trees to get big fast," said Webb. "We were given
a wide choice, from shrubs to fruit trees. We requested eucalyptus and Willow trees."

Webb said he is also looking forward to finally seeing some wildlife in the school
yard at Manna Hills High School.

"If all you have is a grass lawn with no trees, you can't expect the local birds to come
and visit," said Webb. "They have no place to make their nests. Now that will change,
and we'll be able to see birds from our classroom windows."

The best title for this passage is -—------------ A

1) Student Wins Science Award 2) Principal Discovers New Tree
3) Local School Gets Greater 4) Teacher Leads Ecological Club
What problem does Principal webb talk about?

1) Classrooms that are too hot. 2) Wild animals that destroy trees.
3) Tall trees that block the view. 4) Pollution in the city

In line 11, the pronoun '"them" refers to -------------- .

1) trees 2) classes 3) teachers 4) students
It can be inferred from the passage that eucalyptus and willow trees -------------- 5
1) grow quickly 2) become extremely tall

3) are less expensive than fruit trees 4) do not grow in the spring time
Principal Webb implys that the local birds-------------- .

1) make their nets on the ground

2) are not often seen at the school

3) are fewer due to the pollution problem

4) fly into the classrooms when the windows are open



A a0 eSS G,abasél oL

PASSAGE 3:

Birds are warm-blooded vertebrate animals whose bodies are covered with feathers.
On birds which cannot fly, the feathers are often modified structurally and appear
downy, woolly, or strawlike, Other characteristics of birds are: wings; a short tail
bone, the visible tail being composed entirely of leathers; a weak or nonexistent sense
of smell, no teeth, and keen hearing, despite the absence of externalears. As in
mammals, the only other group of warm-blooded animals, the blood in the veins of
birds is kept totally separate from the blood in the arteries.

Birds evolved from reptiles, specifically from some small dinosaur or dinosaur-
relative. Gradually the scales of the dinosaur evolved into feathers, perhaps first for
insulation as the animal evolved from cold- to warm-blooded, but later for flight. It is
still unknown, however, whether flight developed when a ground-living form began to
flap its wings to increase its running speed (like the ostrich today), or when a tree-
climbing form used imperfect wings to aid it in leaping from tree limb to tree limb.
The evolution from reptile to the bird as we know it concluded about 75 million years
ago, at the beginning of the Tertiary period, or age of mammals.

The earliest classification of birds relied upon easily recognized external
characteristics or upon peculiarities of behavior or appearance. For example, all web-
footed birds were grouped together and all seed eating birds were grouped together.
Since the 19th century and the general acceptance of evolution, however, this method
has given way to a sounder and more scientific procedure. Birds, as well as all other
living things, are now classified in a way that best expresses their blood relationships
and lines of descent.

Ideally, such a phylogenic classification will resemble the pedigree charts of
domestic animals or the genealogic tree of a human family—only ideally, however,
since we are talking about relationships which began millions of years ago and for
which the fossil evidence is never complete.

166- Bird, according to the passage, are ------------=- \
1) all able to fly
2) the only warm-blooded animals
3) sometimes not covered with feathers
4) the only warm-blooded animals aside from mammals
167- The passage states that ===---------—- ,
1) scales evolved from feathers
2) feathers evolved from scales
3) flight developed when ground-living forms began to flap their wings to run faster
4) flight developed when tree-climbing forms used primitive wings to aid them in
leaping from tree to tree
168- Until the 19™ century birds were classified by -------------- .
1) color 2) size and shape
3) lines of descent 4) common external characteristics
169- A phylogenic classification for a bird -------------- .
1) is simple to construct 2) is usually complete and accurate
3) resembles a human family tree 4) is an unscientific construction
170- Birds completed their evolution to their present form -------------- 5
1) during the age of dinosaurs 2) in the 19" century
3) 75 million years ago 4) 50 million years ago
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